296, A General of Army wants to form a square
from 36562 soldiers. After arrangement, he

- ~— —n found some soldiers were left. How many
L 2656 2‘( 12 L soldiers were left? ,
' UF JAT FT AR 36562 RAwRyAT
4 v T cHaReud FT AEAT 3] T
21?25 . a:ma%mﬁmﬁrﬁm%*lm
l R ?
29| Ye2 | y ik wxs aw ass
3¢ 19 33%'5\5'1\\%
let—eu, :
o 381 Ye¢2
38|
n
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192

194 | 36562
%6 |
282 | Ygo |
164

19




297. To get a perfect square, what should the
minimum number be added to 8212.
TF qUT g9 gIod #Wq & faw 8212 A
—q?l?m fraer &ar AS AT

4|72 (90 gy e
r — 98212 |9
180 ll% 2
' B oz |
1% |

SSCCPO T1, 15 Mar 2019 S3| 3
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|00
Q02| YAY
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29% _Let x be the least number which subtracted
from 10424 given a perfect square number.
What is the least number by which x should
be multiplied to get a perfect square?

AT x 9§ B ¥ S wear g, 5F
10424 ® § e W UF qoi aof wear
yIea gt § a8 o1 @ 8 wedr A
Y, 9@ x @ 0T FQ W vF qOF T
&1 9Ted 8l

a)3 b) 6

/5 d) 2

| SSCCGL T2, 16 Nov 2020 | 4



293 How many natural numbers are there between

V261 and v45109?

16.'%'7 Z” 2J7—'2’2 n \/ﬁ 1 94T V45109 & AT fras! THfds

d) 195

22

T | ’?
]’_26| ﬁsj/—o—_ a) 144 //o//196 c) 168
22 21 |Usive
— 14 Uy
\96 Y22| 1009
84\




66’< h ”S><l5

200. A toy factory manufactured a batch of electronic

wo 1
rope

NXN=N"

S

—

%

—_—
—

Mqg
9

IlMS

1

595
MY

\
S\-J\\

toys. If the toys were packed in boxes of 115 each,

13 boxes would not be filled completely. If the Toys

were packed in boxes of 65 each, 22 such boxes

would not be enough to pack all of them.

Coincidentally, in the end, the toys were packed ir@
boxes containing@ toys each, without any

remainder. The total number of toys was

f@alr srEe 3 7o @A 1| I} @S
m#ﬂsi@mﬁwaﬁ%?ﬁmm

A 3 aE % 22 99
e s & T 7 93 IR 39 H 9
] X AT @ n afFF g

ate X Iv| f@eaY Y gE&ar adqnsi

41444 b) 1454 c) 1424 d) 1434

["sscceL2012T2 | 6
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5 987 [
 8Z5 |, %<

20|, The product of two consecutive
prime numbers is 7387. What is
the difference of the two
numbers?
&Y HATRIT FHTST TEIATAHT T
AR 7387 @] FA Qe
FEast # fraer 3R &2

82 ' g9
g3 S
267
A%
1%% 7]

a) 3 M6
c)2 d) 4

|SSC CHSLT1, 16 Mar 2023 Sﬂ 7
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202 .The square root of which of the following is
a rational numbgr?

535.36 {3152.88

)6\72905. 2 }4{67508. 5

SSCCPO T1, 13 Mar 2019 S3|



2,03, The square root of which of the following is
a rational number?

fAmfaf@a & ¥ fraw aoHga =

uRAT HE&Ar 372
5823.82 ¥ 22504.9
2460.14 1489.96

SSCCPO T1, 12 Mar 2019 S3| 10



30Y. The square root of which of the following is
a rational number?
fAmfaf@a & ¥ fraw aoHga =
1250. A9 6250.
}%135;:’. 24 W(5768.28

SSCCPO, 12 Mar 2019 S1



205. How many perfect squares less than 10,000
end with 4?

10000 & ¥ frast qof @it & 3ea
'02 12,22,%2,.. qz (4)3mar & 2 %
, a)9 b) 18 c) 10 20
Q
82, ‘?’QQI'%?I F 4 quj QOO> - 10000

‘_W‘ < \0K
A" < wk
1

N bk

D — .




206. If ¥/N lies between 6 and 7, where N is an

6<3N < 7

A6 N < U2

{&\7,2:2}, __.)3\4;03

integer then how many values N can take?

afg YN 6 6 aur 7 & Aeg Rua g,
IR SET N wF qUiE &, @ N F e

AT & THA &7
126 b) 127
c) 128 d) 125
3y
—Q¢
\
S}
SSC CGL T2, 8 August 2022 13



0). Sum of two numbers is 40 and their product is
375. What will be the sum of their
reciprocals?

& wEAs # AT 40 § AR 3
AR 375 Tl FAF UREARST FT AWT

ar ?
8317"‘ b 1 75 d 75
)75 ) 20 g Iy
Qo L1 b qum _35_
a b ab m‘z\
75

| MP 31 Oct 2017 S1 | 14



o, b
L_1. b-& i
@ b ab d?‘rod.
Y
ﬁ_:/_-_-,.‘&_“’]i:/,?__
Us Pvod.- ond

298. Two positive integers differ by 8 and their

reciprocals differ by 42—5, then which of the

following can possibly be one of these
integers?

al YellcH® qUITh! HT X 8 & T 3%
UREIRET $T ¥ 2/45 & @t T #
¥ Fldt wEar 39 & gEgEnt 7 |
TF g7

a) 12 b) 14 c) 16 \ﬂ{18




20A. The average of the largest and smallest 3
digit numbers formed by 0, 2 and 4 would be

| 5,2, 8 3t 0,2 3 4 X FAT AT 3 IF F
| T gmk qod oY et @
FAT Q7
LWX‘” -8-5&) ! %{12 b) 213 c) 222 d) 303
Smallgt 1258 (.ahzusi' ﬁQ §2
— - . 7 2
O5,7,% Mallug Oiv\ 204

16
SSCCGL 2014 T-2



2,10, How many digits in all are required to write
numbers from 1 to 50?

2,54, ..., S0 1 ¥ 50 a% fa@s & fT $o fhaw
3P A ATTAIFAT 872
a) 100 b) 92 /(91 d) 50

|L/2|?71M/ "'/q)y \|0'||, 12, .. EJ




[jz,,‘- chﬂ

1397

18



0,2,%,

2.

If the sum of ten different positive integers
is 100, then what is the greatest possible
number among these 10 numbers?

afg 10 R yarcas qoar 1 A
100 & @ =7 10 W& A ORI
gafad g&ar F4r 872

a) 45 b)91 ﬁ d)64

19
SSC CGL 18 Feb 2018 T2



212 . Consider the multiplication 999 X abc =

387 5)2. 70 5 def132 in decimal notation, where

a,b,c,d, e and f are digits. What are the
)(0] 19 X 0' qq quq values of a, b, ¢, d, e and f, respectively?

i%Gé[%, 511488 702297 werwrea wha weafy & AVTARS 999 X
26Q abc = def132 wﬁwaﬁfﬁc STl

ch %,7 ;l;;d;ﬂﬁ?a{mﬂ;:%l ab,cd e 3 f
x99 Tﬁ:% a) 6,6,8,6,8,7 b) 8,6,8,6,7,8
96‘”3’2_ _“glc)6,8,8,7,8,6 _478,6,8,8,6,7
Qj x99 9
1IRI281p




213, What are the last three digit

of the multiplication
654321 X 123456?
oy 654321 x 123456 &
22] 56 et 3w T §7
7 376 b) 344
Usé ‘;é i c) 324 d) 352
26 X
05 x K
U X x
37 ¢

SSC CHSL T1, 14 Mar 2023 Sil



3W4_A student was asked to divide a number by

6 and add 12 to the quotient. He, however,
first added 12 to the number and then
divided it by 6, getting 112 as the answer
the correct answer should have been
TS ST H THh HEAT S 6 F AWT &
IR smreeE F 12 AsA W T T4
3WT Uge HEAT A 12 g Rw kv fw
# $T T aY 3/ WM A 112 ured

a) 124 \y{ 122 c) 102 d) 114




35.fN=1+11+ 111+ 1111 + ---.. +111111111, then
what is the sum of the digit’sof N2
ge N=1+11+111+ 1111+ .. +111111111 a'
aY N & 371 T 2T FAT 82
/{45 b) 18 ¢) 36 d) s

]
| )
L1

H243+. .
= - SIRRNERE
29= Ax\n - _
2= | 2345€7189




316. If the sum of the digits of a number 10™ — 1,
where n is a natural number, is equal to
[
3798, then what is the value of n?
n=l l0-1=9 TE WEAT 10" —1 & FHE F G,
Z n TS HIYUIH §, 3798 & T
=2 10-]=99 saxz ;ﬂnwmw%ﬁ ©
a)421  _H4)422 423 d)424

N2 lvil= 4G9—sax2

N=4  |o}| = qaag—sayy T
;

24
| CDS, 2020, PAPER 1 |



317. A woman sells to the first customer half her

g 5./ /.S stock of apples and half an apple, to the
_S.-I-l —-l-‘i'i 2 "'22‘ 'i"”’i second customer half an apple and half of
2 ;’Z 9 v v « her remaining stock and so also to a third
and to a fourth customer. She finds that she
has now 15 apples left. How many had she
N\
6‘;_\5) 20,5 20 (15)at first?

12y —, U5 — 2

J

TV

3R uF 3mem A9 AT B qEH HN
T T 9 3R Sy A6 A @
e AT dudt g A s e ¥ W
Ak Gl aEs Fr ot A9 S=dr B 3w
3 9 15 A9 Juad § o Iaitr &
ggel 38 I fhde )
a) 125 b) 255 250 d) 155
25

| SSC CGL 2012 T-2 |



g F Pm‘gtBlQ.
€L X T

loozp + %P
25
252500 =Xx(e)
S0="%

\m!)ml 5
201
%05
)

X

Each member of a club contributes as much
rupees and as much paise as the number of
members of the club. If the total
contribution is Rs. 2525, then the number of
members of the club is

Pl Fod & T werw, Fa9 &
dEEdl fY &I F AW & T 3N
0 FT AeET o ¢ | AR Fa e
2525 IqY § A FAT F dGEAl A
HEIT FT gl ?

a) 60 b) 45 CEN (-

| SSC CGL 18 Nov 2016 T2 | 26



N 2
B+20
(NYi0=a(%-10)

N-10 = Brlo

319. Natu and Buchku each have certain number of

oranges. Natu says to Buchku, “If you give me 10 of
your orange, | will have twice the number of oranges
left with you”. Buchku replies, “If you give me 10 of
your oranges, | will have the same number of
oranges as left with you”. What is the number of

Ta% A Feel §, AR qH IUS Fad A F AqR
0 ¥k & @ & qER W Ry Hay oW q9
T §, 399 QNET EeR g S | TEE

TA% & U HAT: Fheed TRt F FE&;T @M 2
250,20 \f70,50 ¢)20,50 d)50,70

| SSCCGL 12 Jan 2017 T2 | 27




a_ 4
O+b1C=18
abc=17 ¢

Q. b C

I R 4

6% 9 q
3|
\ 2§

320.The sum of three positive numbers is 18 and
their product is 162. If the sum of two
numbers is equal to the third then the sum
of squares of the numbers is
N gaTcH® TEAist &1 AT 18 § IR
3FT AVTTH 162 § | A & e
H AP AN TEI F WE g oal
HEI3T F FIT FT ST F4T eI ?
a) 120 \_,b{126 c) 132 d) 138

| SSCCGL 1 Dec 2016 T2 | 28



2 2 31). The sum of squares of three positive
asz +( = 525 integers is 323. If the sum of squares of two
— numbers is twice the third, their product is

2 2 frdlt e et quife) & a9 #1 S5 323
a+b=2C & | 7R @ FEat & gt & Sy e

¢=17 s q g @, @ s e
2 =l qqrsv ?
LC+c= 323 255 b) 260 c) 265 d) 270

| SSC CGL 30 Nov 2016 T2 | 29
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